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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

Yá˚] Yy ( 5th Paper : Rural and Urban Sociology ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) ÿëˆÁW˝›X \ˆÁÃ[˝„Tˆ XGÃ[˝ÁÃ^„SÃ[˝ ◊[˝XÓÁa Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
 (F) ]W˝Ó◊[˝w¯ Ê`“S›Ã[˝ aep˚Á ◊_F«X* Y«Ã[˝ÁTˆX ]W˝Ó◊[˝w¯ 

Ê`“S›Ã[˝ a„Ü XT«ˆX ]W˝Ó◊[˝w¯ Ê`“S›Ã[˝ YÁUÔEıÓ ÂEıÁUÁÃ^ ? 
 (G) XGÃ[˝ÁÃ^S a+„EÔı [˝Á„L¤„aÃ[˝ AEı„Eı◊≥V–Eı [˝_Ã^ ]Tˆ[˝ÁV 

[˝ÓÁFÓÁ EıÃ[˝”X* 
 (H) G–Á] C `c˜„Ã[˝Ã[˝ YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) XGÃ[˝›Ã^ L›[˝„XÃ[˝ Y“W˝ÁX ªJÙÁ◊Ã[˝◊≈yEı È[˝◊`rÙÓm◊_ Eı› Eı› ? 

(F) XGÃ[˝ÁÃ^S a+„EÔı _«c˜O ‚º˜Ã[˝U-AÃ[˝ Tˆ√º¯ a]Á„_ÁªJÙ„EıÃ[˝ 
V ◊rÙ„Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) ÿëˆÁW˝›X \ˆÁÃ[˝„TˆÃ[˝ `c˜Ã[˝m◊_„Tˆ `“◊]Eı Ê`“S›Ã[˝ %Á◊[˝\ˆ¤Á[˝ 
Eı›\ˆÁ„[˝ c˜„Ã^◊ªK˜_ ? 

(H) XGÃ[˝ÁÃ^„SÃ[˝ a]aÓÁm◊_ Eı› Eı› ? Eı› EıÁÃ[˝„S Ac˜O 
a]aÓÁm◊_ ÂVFÁ ^ÁÃ^ ? 

(I¯) XG„Ã[˝Ã[˝ EıÁ◊Ã^Eı GPˆ„XÃ[˝ [˝SÔXÁÃ^ [˝ w¯Eı_Á ]Tˆ[˝Á„VÃ[˝ 
^ÁUÁUÔÓ ◊[˝ªJÙÁÃ[˝ EıÃ[˝”X* 

(ªªJÙ˜) G–Á]›S \ˆÁÃ[˝„Tˆ Y◊Ã[˝[˝ÁÃ[˝ [˝Ó[˝ÿöˆÁÃ^ Eı› Eı› Y◊Ã[˝[˝Tˆ¤X _l˘Ó 
EıÃ[˝Á ^ÁÃ^ ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Y“ÁªJÙ›X C ]W˝Ó^«G›Ã^ \ˆÁÃ[˝„Tˆ XGÃ[˝ÁÃ^„SÃ[˝ È[˝◊`rÙÓm◊_  
Eı› Eı› ◊ªK˜_ ? 

(F) G–Á]Áá˚„_Ã[˝ XGÃ[˝ÁÃ^S„Eı Ã[˝ÁW˝ÁEı]_ ]«„FÁYÁW˝ÓÁÃ^ 
Eı›\ˆÁ„[˝ [˝ÓÁFÓÁ Eı„Ã[˝‰ªK˜X ? 

(G) \ˆÁÃ[˝„TˆÃ[˝ %◊\ˆLÁTˆ Ê`“S›Ã[˝ Y“EıÁÃ[˝„\ˆV %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

(H) ÂEı≥V–›Ã^ ÿöˆÁXTˆ„√º¯Ã[˝ Y“„Ã^ÁLX›Ã^ `Tˆ¤Á[˝_› Eı› Eı› ? 

(I¯) [˝ß„Eı◊≥V–Eı ]Tˆ[˝Á„VÃ[˝ ]…_ [˝N˛[˝Ó Eı› ? 

(ªJÙ) ]c˜ÁXGÃ[˝›Ã[˝ W˝ÁÃ[˝SÁÃ[˝ Y◊Ã[˝‰Y“◊l˘„Tˆ G–Á] C `c˜„Ã[˝Ã[˝ 
W˝ÁÃ[˝Á[˝Á◊c˜EıTˆÁ„Eı %Á]Ã[˝Á Eı›\ˆÁ„[˝ ÂVF„Tˆ YÁ◊Ã[˝ ?  

(ªK˜) Y“ÁEÀı-◊`î `c˜Ã[˝ EıÁ„Eı [˝„_ ? 

(L) T ˆTˆ›Ã^ ◊[˝„`üÃ[˝ `c˜Ã[˝ ◊c˜„a„[˝ Â]◊j„EıÁÃ[˝ È[˝◊`rÙÓ Eı› ? 
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English Version 
 

1. Answer any two questions : 20 × 2 = 40 

(a) Examine the pattern of urbanization in 

independent India. 

(b) Define Middle Class. What are the 

differences between 'old' and 'new' middle 

classes ? 

(c) Explain the Concentric Zone theory of 

Burgess regarding Urbanization.  

(d) Discuss the differences between cities and 

villages. 

2. Answer any three questions  : 12 × 3 = 36 

(a) What are the principal features of urban  

life ? 

(b) Discuss critically Louis Wirth's theory on 

Urbanization. 

(c) How did the working class emerge in the 

cities of independent India ? 

(d) What are the problems of urbanization ? 

Why do these problems occur ? 

(e) Justify the applicability of the Sector 

Theory in the description of the physical 

structure of cities. 

(f) What changes do we notice in the family 

system of rural India ? 

3. Answer any four questions  : 6 × 4 = 24 

(a) What were the features of urbanization in 

ancient and medieval India ? 

(b) How did Radha Kamal Mukherjee explain 

Rurbanization ? 

(c) Discuss the types of aristocratic classes in 

India. 

(d) What are the necessary conditions for a 

Central Place theory ? 

(e) What is the central thesis of Multi-Nuclei 

theory ? 

(f) How can we view rural-urban continuum in 

the context of the concept of Metropolitan 

mega cities ? 

(g) What is Pre-industrial city ? 

(h) What are the features of Mexico as a third 
world city ? 

    


